9 L9l L | 2] 8 [or| uoewuopuwsy g susiny uossel|3 uui4

4
&b o | 6 61616 16 6100 0L]0L[0 | uewuOBUWSY  d oighN PuEIqielS snubeyy
45 | S6 | 6 | 6 |6 |6 | 6 |0 |0 _Ob L Ob | Ob | yolewuobuiey|  yds ofwer| — uossel3 idlige]
oL | L 19 |\ L |2 | 22| |8 J‘m‘!‘*b\lﬁ\ﬂmﬁnﬂmc’éom d  dsolwer uossyieq Jajod
0Ll 8. 9 S| L L] L8 8|6 00| LT uolbuiiey|  yds ofuwer) | WIoyQls sHusH
9L €8 £ | 8181818 |88 |6 6|0 /Il ugbuuey o _SS3|  Jspuiiep Biosg
6| 98 | 2121818181666 0|0| Jiciuobuuey  ids ofwer]  exoiuer snubeyy
V. | 68 | 8 | 8 |8 |8 |6 |6 6 0L 0oL oL | /iziuoBuwey  yds Ofugp| uossnuBey [eexI
| 09 c6 6 \‘m[zlmj‘\y@\.\\my\ [@I‘\‘mlemlk\!‘o\_‘[ ‘t.mr uojbuiwey ~_Mds o.:cmﬁ, uossis}ad sulelg
¢ | €6 | 8 | 6 | 6 | 6 6 | 6 0oL oL oL ]|oL| /T L uobuway|  yids oluer| — uossel3 sjied|
6 | 16 8 | 8] 8 | 6|6 |6 |0L|OL|oOL 0L | euenfsuusd| __ MdSolwer| uossisjed sulelg
4y | % | 6 | 616 |6 |6 |6 | 6 _Ob [ Ok | OL | Eluerdsuuad]  ySd euonsiiey Uoss|ie) ueyor,
o 69 riyov i v 1S 19|22 | z] Loy 8 | SWA MdS Olwer|  wjoyols suusH
el o8 ] § L | L | 8 18 | 6 | 6 | 6 uj\‘o\rs::\ﬁ\ \&Mm@@; ES an%;@i\ uossyiey usbigr
99 | 6 |8 |8 |8 8|6 |6 |6 oLy oo SIUIN _MdS olwer]  uossiejed sulelg
65 B8 816 6161616 0]or]or]o] oup| ssdeuobsuey | uossiey ueyor
| ¥ el ¢zl | v |9 1 6 6 oL  eweuew _MdSoluer]  uossisjad ayy|
e N F,\N! 6 .6, SWOUBINI  MdS Qler|  wousjie sispuy|
&l 0 | S | S| S |2 |2t |2z 8 /8 1 8 0L |  emeuew|  yds olwer | HOSSUSLIBIN 1aqoy
g€l 2] S | 91919 2|22 |8 | 8|6 6 ] eweuen 48 ofwer _ 1SIAD©IQIG SIIN|
[ && 0 9| L | L | L | 2] 2] 8 8 |8 | 6 | enelew]  MySexsueys| (UBLLDIE i g-LieT ]
- v. ¢ | 9 | L | 7 8 J\w\"\w\tl[m“fﬁ\m[%\or‘ __ ojsuepn __Adspuny UOSS|IN Jjoy|
. 8 10 /|2 |8 |81|38/|6s 6 | 6 oL |  epouen _id Buontspue | Uaibjieq uuilo)
80 9L 9 VL L L] L] 8 1 6 /66 | :\\\m.%cms_!leﬁmbglmm!\wv_oamﬁ snubeyy
Sk | M 9 2| 222 8] ¢ 816 0| SHOUBN|  Mdspuny  Bi1eqQ ueigo)
Wi | 8 | 9 | L | /2 ém[,T@, 8 /8 | 6|6 |6 | . SWeMEN]  4Sofwer)  uossislad ueyor)
<8 c8 Ly 2218 8 8 | 6 | 6 |6 |0L|  onsuep U Mdsusiny  uosselg uul|
% | ¥8 | L | . |18 |8 8|8 | 6| 6 0 job|  emeeny)  gs3 __1epuliepm biosg
88 8 | /. | 8 |8 | 8 | 8 8 6 | 6 0L |OL|  epeuep| _dS oluler|uossiepuy jojo-uer,|
99 98 8 | 8|8 8 8 -8 1 6 1 6 0L 0L | opeue|  MMS esuBdS __ Lassalls sEn
18 8 | L |8 |8 |8 | 6 6 [ 6 6 0|0 SHoueW|  Mdsolwer|  jlepAy uejers
8 | 88 | / |8 | 8|8 | 6 | B8 16 0oL ]or]  epsuenlels snubep IXSd Isinbwily 3
<9 68 8 1 818 |8 |6 | 6 6 0 joL oL | epeuep| Ad sudiny| uossue snubepy
S 06 8 | 8 | 6 | 6 Fwtm/[m\ . 6 | 0L o ensuen| meWc_@mem Biaquuolg Jsysiiyn
19 €6 | 8 | 8 | 6 | 6 | 6 | 0L |0k | o0 oL ok emeHe Mg OIGAN|  uossuor ueyor
s | ¥6 8 | 6 16 6 |6 0|0 |0k |o0b 0 . oweuew  dsolwepl  uossued sepiN
1 89 | ¥[S99 T@\F\E\wL 8 ] 6 | 6 {I@o::mg’i __ Mdsolwer]  uossisled exy|




